
Tuesday 31st March  

Good morning Year 3 ☺  

Here is your timetable for today.  

Reminder that the answers are provided but if you have any questions or require any feedback 

please me directly on pstewart1.airyhill@yeat.co.uk ! If you would like some feedback, please email 

a clear photo of your work or typed text for me to respond to.  

PS – maybe you could start keeping a diary; one day these events we are living through will be 

history and interesting for people to learn about so keep up-to-date through Newsround and write 

down what you get up to and about the key events taking place in the world.  

Miss Stewart x 

9:00 – 
10 am  

 

Maths arithmetic and new learning in your blue books.  
If you have any questions or require any feedback please email 
me directly on pstewart1.airyhill@yeat.co.uk  

10:00 – 
10:30 
am 

 

Break and relax time 

10:30 – 
11:30 
am  

Daily English activity in your blue books + reading of a book  
If you have any questions or require any feedback please email 
me directly on pstewart1.airyhill@yeat.co.uk  

11:30 – 
1:00pm 

 

Lunch time and relax time 

1:00 – 
1:30 pm 

 

Practise times tables / spellings / reading of a book 

1:30 – 
2:00pm 

 

Daily Joe Wicks PE lesson  (this will support your physical and 
mental health – we know how important this is!) 
 
https://www.youtube.com/channel/UCAxW1XT0iEJo0TYlRfn6rYQ  

2:00- 
2:30pm 

 

Break and relax time 

2:30 – 
3:30pm 

 

Wider learning activity (choose from an activity set by the class 
teacher each day or an activity planned by a parent / carer. This 
might be topic based or something to do around your house)  
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Maths  

31.3.20 

Morning Maths  

Let’s revise those divisions ☺ remember, count in your times tables and see how many 

groups of the number will go into the number that you have altogether x  

1. 35 ÷ 5 = 

2. 40 ÷ 5 =  
3. 18 ÷ 3 =  

4. 32 ÷ 4 =  
5. 48 ÷ 4 =  

6. 36 ÷ 3 =  
7. 42 ÷ 3 =  

(don’t let this one confuse you, think about how your times table facts could 

help you to work this out)  
8. 66 ÷ 6 =  

9. 88 ÷ 8 =  
10. 96 ÷ 8 =  

Solve these calculations below  

Here is my example… 

84 ÷ 6 =  

Partition the number. This means to split it. 

Step 1 = times (x) the number you are dividing by 10… 6 x 10 = 60 

Step 2 = now you know you have split 84 into 60, and then 24 is left. 

Step 3 = how many 6’s go into 60? 10.  

Step 4 = how many 6’s go into 24? The answer is 4. 

Step 5 = add both parts together which is 10 + 4 = 14. 84 ÷ 6 = 14. 

Now try these below…  

a) 96 divided by 6  

b) 75 divided by 5  

c) 88 divided by 8  

 

 

 



 

 

 

 

 

 

 

1. reasoning help = think about the fact that you know 4 is double 2, and 2 is half of 4  

 

2. reasoning help = We don’t do our 12 times table in Year 3 but how 

could we count in 12’s to figure out how many brothers Alvin has.  

3.  

 

If your child would like to have a go at sharing in groups of 2, this is one way we can 

share equally!  

Try these either in your head or by circling groups. If you do it in your head you must 

be able to explain to your grown-up how you got to the correct answer.  

 

3a) 44 shared by 2  

3b) 88 shared by 2  

3c) 58 shared by 2. You should be able to remember what half of 50 is…  

 



Maths answers to the questions 

Morning maths  

1. 35 ÷ 5 = 7  

2. 40 ÷ 5 = 8  
3. 18 ÷ 3 = 6  

4. 32 ÷ 4 = 8 
5. 48 ÷ 4 = 12 

6. 36 ÷ 3 = 12 
7. 42 ÷ 3 = 14 

(if you do that 12 x 3 = 36, you only need to add on 2 more groups of 3 to get 

to 42 which means you have counted 14 groups altogether)   
8. 66 ÷ 6 = 11 

9. 88 ÷ 8 = 11 
10. 96 ÷ 8 = 12  

Now try these calculations below…  

a) 96 divided by 6 = 16 

b) 75 divided by 5 = 15  

c) 88 divided by 8 = 11 

ANNIE QUESTION 

I do agree with Annie because 4 goes into the number 88 22 times. I worked this out 

as I partitioned the number 88.  

10 x 4 = 40  

20 x 4 = 80  

I have 8 left over and I know that the number 4 goes into the 8 twice. 8 divided by 4 = 

2.  

So I need to add the 20 and the 2 which is 22. 

I know 2 also goes into the number 88 because 4 is double 2. If I double 22 to 44 this 

will be how many times the number 2 goes into the number 88.  

ALVIN QUESTION  

Double 12 = 24. Double 24 = 48. I know Alvin has 4 brothers because 12 goes into 

the number 48, 4 times.  

3a) 44 shared by 2 = 22 

3b) 88 shared by 2 = 44 

3c) 58 shared by 2 = 29 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 



Comprehension answers: 

Vocabulary = Passage 

Inference = she remembers being told to check the bottle before drinking it. Bad things happen to 

children who did not remember the rules. 

3a) She is shrinking  

3b) Go through the little door  

Retrieve = don’t just accept that it is poison, your child can quote any of the stories from paragraph 3  

Summarise =  

5,  

2,  

1,  

4, 

3, 

Optional wider learning  

Computing  

Children in Year 3 were due to start a new computing topic when we came back after the 

Easter Holidays. It might be worth having a look at it together as it is an important one about 

communicating safely on the internet.  

 

 

 

 

 

I have attached the key unit expectations in case you would like to have a good at this with 

your child. We haven’t sent or received emails in Year 3 yet so I think it is important to 

discuss and explore these together. 

 


